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1. Write a Verilog module named check with two 7-bit inputs named s1 and s2 and a 1-bit
output named either. either should be set to 1 if either s1 or s2 are non-zero. either
should be set to zero otherwise. Declare arrays with decreasing bit order.

2. Given the following Verilog declarations:
logic [11:0] x = 12'd32 ;

logic [7:0] y = 8'b101 ;
fill in in the table below with the value of the each expression as a hexadecimal (base 16)
number (Verilog format not necessary) and the length (number of bits) as a decimal (base
10) number:

expression value (in hexadecimal) length (in bits, decimal)

{y,y}

x[7:4]

x && y

x + y

3. Write a Verilog statement that would imple-
ment the schematic on the right. You can
assume it would replace the “missing state-
ment” comment in the quiz1module.

a

0

1

r
6x-y

x+y

6

6

module quiz1
( input logic [5:0] x, y,
input logic a,
output logic [5:0] r ) ;

// missing statement

endmodule
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1. Write a Verilog module named check with two 15-bit inputs named s1 and s2 and a 1-bit
output named both. both should be set to 1 if both s1 and s2 are non-zero. both should be
set to zero otherwise. Declare arrays with decreasing bit order.

2. Given the following Verilog declarations:
logic [11:0] x = 12'd64 ;

logic [7:0] y = 8'b111 ;
fill in in the table below with the value of the each expression as a hexadecimal (base 16)
number (Verilog format not necessary) and the length (number of bits) as a decimal (base
10) number:

expression value (in hexadecimal) length (in bits, decimal)

{y,y}

x[7:4]

x && y

x + y

3. Write a Verilog statement that would imple-
ment the schematic on the right. You can
assume it would replace the “missing state-
ment” comment in the quiz1module.

a

0

1

r
6x+y

x-y

6

6

module quiz1
( input logic [5:0] x, y,
input logic a,
output logic [5:0] r ) ;

// missing statement

endmodule


